FV :S.t — SparcAsm.t — S.t
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R : SparcAsm.prog — SparcAsm.prog
R({D1,...,D,}, E)) = ({R(Dy),....,R(Dy)},R¢(E,z,())) 200000 fresh000

‘R : SparcAsm.fundef — SparcAsm.fundef
R(Lz(Y1,---,yn) = E) = Ly(Ri,...,Rn) = RaRo,yi—R1,...,yn—kn (£ Ro, Ro)

R :Id.t M.t — SparcAsm.t X Id.t X SparcAsm.t — SparcAsm.t X Id.t M.t
Re((w = €; E), Zaests Bcont) = Elone = (2aest < £ Eeont),

Rs(evvaéont) = (E/agl)v

r&{e'(y) |y € FV(Elon)}

Rt prsr(E, 2aests Feont) = (E”, ") 00 0

((r— E';E"),e") r0o0ooooooog
Rs((T — € E),Zdest; Econt) = Eéont = (Zdest — LI Econt)a

Re(er, Egone) = (B, €),

Re'(E, Zaest, Beont) = (E£”,€”") 000
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Re(e; 2, Econt) = Rele,z, Econt) oooooo
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R :I1Id.t M.t — SparcAsm.exp X Id.t X SparcAsm.t — SparcAsm.t X Id.t M.t

Re(c, 2aests Eeont) = (ce)
Re (L Zdesty cont) = (Lm 5)
Re(op(x1,...,%n), Zdests Peont) = (op(e(z1),...,e(xn)),€)
Re(if =y then E; else Ey, Zaest, Fcont) = Re(E1, Zaests Beont) = (E1,€1),
RE(E27zdest7Econt) = (Eé7€2)a
g ={zrle(z) =ez) =1},
{z1,...,2n} =
(FV(Econt) \ {2zaest } \ dom(e"))Ndom(e) OO O
((save(e(z1),21);-..;save(e(zn), 2n);
if e(z) < e(y) then E| else E}),¢’)
Re(if x <y then E; else E2, 24est, Feont) = OO
R:(x, Zaest, Econt) = (e(x),¢)
Re(apply_closure(z,y1, - -, Yn), Zdests Eeont) = {21,-+-y2nt = (FV(Eecont) \ {Zaest }) N dom(e) 00O
((save(e(z1),21);...;save(e(zn), 2n);
apply_closure(e(x),e(y1), .. .,e(yn))), D)
Re(apply_direct(Ly, Y1,y - -, Yn), Zdests Feont) = 00O
Re(2.(y), 2aests Econt) = (e(z).(e(y)),€)
Re(z.(y) < 2, 2dest, Econt) = (e(2).(e(y)) < €(2),¢)
Re(save(x,y), Zdest, Feont) = (save(e(x),y),¢)
Re(restore(y), Zaests Econt) = (restore(y),¢)
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7 :Id.t — SparcAsm.t X Id.t — bool x S.t

T.((y < e; E), Zgest) = T.(e,y) =(c1,51) 000000 000 (true,sy)
0000000 7.(E, zgest) = (c2,82) D00 (c2,51 U Ss2)
7. (e, Zaest) = T.(e, Zdest)

7T :1d.t — SparcAsm.exp X Id.t — bool X S.t
7.;(% Zdest) = (false, {Zdest})
T.(if y = z then E; else Es, 24est) = 7o(E1, 2aest) = (c1,51),
T, (F2, Zgest) = (c2,52) 000

(Cl A Co, S1 U 82)

T.(if y < z then E; else Es,240st) = 00O

T, (apply closure (Yo, g1, -, Yn)s 2aess) = (true, {Ri | 2 = i })

T, (apply_direct(Ly, Y1, .- -, Yn), Zaest) = OO

T.(e, Zgest) = (false,() oooooogoo
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R:Id.t M.t — SparcAsm.t X Id.t X SparcAsm.t — SparcAsm.t x Id.t M.t
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